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Two compounds, A and B, have the following properties: 

   (a) They both have the formula C7H13Br and both are chiral.

   (b) Compound A is a diastereomer of compound B.

   (c) Treatment of A with base (Ù“OEt), gave alkene C and treatment of B gave alkene D).

   (d) Alkene C is chiral but alkene D is achiral.

   (e) Catalytic hydrogenation of both alkenes C and D gave methylcyclohexane.

Give the Structures of compounds A and B.

Ã—VIDEO SOLUTION

How to Reach Us
Todd's Test Prep 

2255 Glades Road 
Suite 324A 

Boca Raton, Florida 33431
E-mail: help@orgoreview.com

file:///
mailto:?body=http://orgoreview.com/question/135ff77bffd83e19b224d81c264b3be0/
file:///
mailto:help@orgoreview.com


Links
Contact
Terms

Privacy Policy

follow us

Copyright 2025. All Rights Reserved.

file:///contact/
https://www.orgoreview.com/terms
https://www.orgoreview.com/privacy-policy
https://www.youtube.com/@orgoreview8403
https://www.facebook.com/profile.php?id=100083394579837

	ORGOREVIEW
	Question Vault
	VIDEO SOLUTION Ã—


